[ Efficiency vs vertpos |
— 0.1

T A Y RS e S
4 : : :

S0.08E - {-- i
o : :
B O0.07F [T i iy
) : :

-+

$0.06 .
0.05fH-H{ T~ 4147
0.04
0.03
0.02
0.01

TTT I TTIT[TTTT]
4

Ok gl 0 ] 0 aabd]
EHY 4+

=l
T 1.2:' T TR 1 7| S R RRRREREEEE
o 1 : H

1072 101 1 10 0?
TP vertr (cr%)

E Q E= I ‘!ﬂ‘:gég?nn{vcum 1660evt
[Efficiend —— %g :ﬁ ng %%igﬁ 1RO TLIERS 1000evt
~ 0.8¢
U S O T S S
4 r : : : : :
S B I S S
c - . . . . .

Q o : : : : :
S 0.5 (A5 RERES A AR SRS M poseeees

 F i ]
e S I
oo
Y7 SRR 20 B SR N B e
of i rl

: ot |
o wQp—pp e

g : :
R QR -
1_ ........... 2UDIRI 1N

-30 -20 -10 O 10 20 30
TP vert z (cm)

~ 05

> LIV R T T
Lo Sl et e S

g E : : : : : :
(2] 045_ '''''' T T S S
£0.35F - whee e rrreeinees e SR
R R A S
o E : : : : : :
U e
3] E : : : : : :
0.2:—----.-----».
0.15F -+ {-4
of i
0.05F -+
[ S
o ¥
SRR SRS
1.1;— ---------
1;— --------- -0--!

20540 5 0 B 101520
Sim. PV z (cm)



	Contents
	Page 1


